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Chapter 2 Review

A2.A.51  Domain  (x values) and Range  (y values)

		_____1. A meteorologist drew the accompanying graph to show the changes in relative humidity 
              during a 24-hour period in New York City.
[image: ]
              What is the range of this set of data?
            1)     0 < y < 24		2)    30 < y < 80	  3)  0 < x < 24            4)  30 < x < 80

______2. What is the domain of the function shown below?
[image: ]
1)   -1 <  x  < 6   	    2)   -1 <  y  < 6   	       3)   -1 < x  < 5  	          4)   -2 <  y  < 5   

A2.A.41    Function Notation (plug in number or expression for variable and solve)

		1)  If [image: ], find the value of [image: ].



		2)  If f(x) =  , find f(4).
		A2.A.38 and A2.A.43    Determining if a graph (passes vertical line test) or set of ordered 
                                        pairs (one x value to one y value) is a function   OR   one – one 
                                        function  (passes vertical and horizontal line test)


_____1. Which relation is not a function?

(1) {(1,5), (2,6), (3,6), (4,7)}		(3) {(-1,6), (1,3), (2,5), (1,7)}


(2) {(4,7), (2,1), (-3,6), (3,4)}		(4) {(-1,2), (0,5), (5,0), (2,-1)}



		_____2. Which relation represents a function?

	1)
	[image: ]
	3)
	[image: ]


	2)
	[image: ]
	4)
	[image: ]



_____3. Which graph represents a function?

[image: ]













______4. Which statement is true about the relation shown on the graph below?
[image: ]

(1) It is a function because there exists one x-coordinate for each y-coordinate.
(2) It is a function because there exists one y-coordinate for each x-coordinate.
(3) It is not a function because there are multiple y-values for a given x-value.
(4) It is not a function because there are multiple x-values for a given y-value.


		_____5. Which function is not one-to-one?
(1) {(0,1), (1,2), (2,3), (3,4)}		(3) {(0,1), (1,0), (2,3), (3,2)}

(2) {(0,0), (1,1), (2,2), (3,3)}		(4) {(0,1), (1,0), (2,0), (3,2)}


_____6.  Which graph represents a one-to-one function?
                            [image: ]                    [image: ]             4)
3)
2)
1)



A2.A.46  Perform transformations with functions and relations: f(x + a),  f(x) + a,  f(-x),  af(x)

1. If f(x) changes to f(x – 5), what transformation occurred?  ____________________________

2.  If x2 becomes x2 + 3 what transformation occurred? _____________________________ 

3.  If x2 is changed to (x + 6)2, what transformation occurred? ________________________

4.  If f(x) is moved up 9 units, how is that written?  ________________________________


A2.A.5  Inverse Variation       xy = k    

_____1. The speed of a laundry truck varies inversely with the time it takes to reach its  
              destination.  If the truck takes 3 hours to reach its destination traveling at a constant 
              speed of 50 miles per hour, how long will it take to reach the same location when it 
              travels at a constant speed of 60 miles per hour?





1)  2  1/3  hrs		2)   2 hrs		3)  2 ½ hrs		4) 2 2/3 hrs


_____2. Carol notices that the number of customers who visit her coffee shop varies inversely 
              with the average daily temperature.  Yesterday, the average temperature was 40° and 
              she had 160 customers.  If today’s average temperature is 25°, how many customers 
              should she expect?



1)  100			2)   145		3)  256			4) 1000	

_____3.  In the accompanying table, y varies inversely as x

	x
	3
	6
	24

	y
	4
	2
	t



               What is the value of t?

1.   1   			 2.    	 	             3.   3	     	          4.   

		_____4. If R varies inversely as S, when S is doubled, R is multiplied by
1.   	    		 2.   2  	                     3.   	     	          4.    4 
______5. In a given rectangle, the length varies inversely as the width.  If the length is doubled, 
                           the width will
          1)   be divided by 2	  2)  remain the same       3)  be multiplied by 2      4)  increase by 2

_____6.   Tracy, a political campaign organizer, realizes that the number of hours 
                needed to get out a mailing for her candidate is inversely proportional to the 
                number of campaign workers she has. If she uses the information in the 
                accompanying graph, how many hours would it take to do the mailing if 125 
                workers are used?  {   Hint:    xy = k   }

[image: ]

1.  12			2.  16			3.  20		         4.   24

A2.A.40   Write Functions in Functional Notation

1. If P(h) = h2 + h + 2 and Q(h) = h + 5, find             P(h) + Q(h).








2. If S(s) = s2 + s +1 and T(s) = s − 5, find	           S(s) + T(s).







3. If S(w) = w2 − w + 5 and T(w) = w − 3, find         S(w) + T(w).




A2.A.42   Compositions of Functions

1.

      [image: ]



2.

        [image: ]




3.

        [image: ]





4.
        [image: ]








A2.A.52   Absolute Value graphs


_____1.  The diagram below shows the graph of 

[image: ]


Which diagram shows the graph of 

[image: ]

		_____2.  Which equation represents the function shown in the accompanying graph?
[image: ]
1)  f(x)  = |x| + 1			3)  f(x) = | x + 1 |
[bookmark: _GoBack]2)  f(x)  = |x| – 1 			4)  f(x) = | x – 1 |
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